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~ ATD34-1005-E 7,400 1=1500 1435
ATD34-1005-C 6,850M =1200 K@ 1135
ATD34-1005-R 6,850M L=1000 935 TR F
ATD34-100W-E 9,750M L=1500 34 1435 |BEHEEE (B)
ATD34-100W-C 9,200M =1200 & 1135
ATD34-100W-R 9,200 L=1000 935
ATD38-100S-E 7.150M =1500 1435
ATD38-1005-C 6,600 =1200 HE 1135
ATD38-1005-R 6,600 L=1000 — 935 BIAYF
ATD38-100W-E 9,500 L=1500 1435 |BEHEEE (B)
ATD38-100W-C 8,950M =1200 T 1135
ATD38-100W-R 8,950 L=1000 935
ATD60-1005-E 9,450M =1500 1435
ATD60-1005-C 8,600 =1200 BE 1135
ATD60-1005-R 8,250M L=1000 935 Xy F
ATD60-100W-E 11,800 1=1500 P60.5 T35 | mEBEEE )
ATD60-100W-C 10,950H =1200 & 1135
ATD60-100W-R 10,600M L=1000 935 UILoy—
ATD34-1005-HDZ-E 8,450M L=1500 1435 #100 (5-&)
ATD34-1005-HDZ-C 7,600 L=1200 BE 1135 FIENYE
ATD34-1005-HDZ-R 7,600M L=1000 - 935
ATD34-100W-HDZ-E 10,800/ =1500 1435
ATD34-100W-HDZ-C 9,950M =1200 T 1135
ATD34-100W-HDZ-R 9,950 L=1000 CEL T
ATD60-100S-HDZ-E 10,700H 1=1500 1435
ATD60-1005-HDZ-C 9,650M =1200 A 1135
ATD60-1005-HDZ-R 9,650M =1000 e 935
ATD60-100W-HDZ-E 13,050 =1500 1435
ATD60-100W-HDZ-C 12,0008 =1200 HE 1135
ATD60-100W-HDZ-R 12,000 L=1000 935
ATD60-1005-PE-E 7.450M =1500 1425 UbAI)L
ATD60-1005-PE-C 7,200 =1200 AE 1125 | #UIFLYIYT ®)
ATD60-1005-PE-R 7,200M L=1000 o 925
ATD60-100W-PE-E 9,800M =1500 1425
ATD60-100W-PE-C 9,550M (=1200 T 1125
ATD60-100W-PE-R 9,550 L=1000 925
*+3/ (E) :L=1500. 23/ (C) :L=1200. HEA (R) :L=1000
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